
ENVIRCO
Innovators in clean air technology

DRAWN: ALG 7/23/20

DRAWING #: 271692-DWG

REV: ~          7/23/20

SEISMIC HANGER

BRACKET

Bracket Installation Instructions:

Place brackets in their appropriate corners on the lid.  Line up the large mounting hole in 1.

each bracket with the nutsert in the lid corners.

Secure with a ¼-20 hex head bolt and lockwasher.  Hand tighten only.2.

Line up the remaining two holes on the bottom of the bracket with the corresponding 3.

holes in the lid and secure with #8-18 x 5/8” screws. 

Use a wrench to fully tighten the ¼-20 bolts.4.

INSTRUCTIONS FOR:

NOMINAL 
SIZE UNIT

KIT PART NUMBER

2' X 4’               
2' X 3.5’             
2' X 3’ 

270607-001 

2 x 2’ 270608-001 

PARTS PACKAGE CHECKLIST

DESCRIPTION QTY.

BRACKET - LEFT HAND 2

BRACKET - RIGHT HAND 2

HEX HEAD BOLT, 1/4-20 X 3/4" 4

LOCKWASHER, 1/4" 4

HEX HEAD SCREW #8-18 X 5/8” 8

STEP 1

STEP 2

STEPS 3 & 4


